
Decke aus Einzelmotiven mit gehäkelter Mitte – doily from separate motifs, with 
crocheted center

Size: 40cm diameter

Materials: 30g cotton crochet thread no. 60, 2 sets of dpns 1.5mm, hook 0.75mm
[today you might rather want to work with a circular needle instead of 5 or even 9 dpns per rd. I would suggest 
placing markers between sts where the original dpns would end, in order to keep track of the instructions].

Instructions: 
You start by working 10 flower motifs:
Chain 8, 1 slip st to make a ring.
Rd1: *ch4, 1sc into the ring*, rep. 13 more times, ch2, 1hdc to close the rd (and offset the beginning).
Rd2-5: as rd.1, working the sc into the chain loops of the previous rd.
Rd6: (ch6, 1sc into the loop)14 times, ch3, 1dc to close the rd. (15 loops total)
Place 3 chain loops each onto 1 dpn (yes, you are meant to have 5 dpns per rd!) and work 5 sts into each loop
[I assume: alternate knits and purls]. Continue according to chart A, repeating the chart 5 times per rd.
After 10 rds, crochet off, gathering as many sts into 1 sc as indicated by the numbers above the chart and 
working 8 chain sts in between the sc’s.
Connect each of the following motifs to the previous one during the crochet off as follows: In between sc’s, 
ch4, 1 sl st into the corresponding opposite loop, ch4. Take care to have 1 pattern repeat facing the center 
and 2 repeats facing the outside of the ring to be formed. 

The center part also starts in crochet:
Chain 10, 1 slip st to make a ring.
Work 7 rds as above, BUT working 20 loops instead of 15 per rd.
Rd8: (ch6, 1sc) 19 times, ch3, 1dc to close the rd (20 loops total).
Place 4 chain loops each onto 1 dpn and work 5 sts out or each of the first 2 loops, then 6 sts from the 3 rd and
5 sts from the 4th loop [I reckon this means 21 sts/needle]
Work 1 rd knit, then continue according to chart B. Each round is a pattern round!
Repeat the chart 5 times per rd.
In rd. 2-4 work the part between the bold lines 5 times, in rd 5 repeat that part 3 times.
From rd17, repeat the pattern 10 times per rd.
Rd 29-32 work as follows: the sts to the right of the bold lines once, then between the 1st and 2nd bold line 3 
times, then between the 2nd and 3rd bold line once, finally to the left of the 3rd bold line 3 times.
After rd 32, crochet off, gathering as many sts into 1 sc as indicated by the numbers above the chart. 
Between the sc’s, ch4, 1 sc into 1 loop of the flower motifs ring formed before, ch4. Take care to connect 
exactly 1 pattern repeat [mind you have 2 repeats per needle now!] of the center part to one motif of the 
flower ring.

Now start the outer edge:
Starting at a corner between 2 sides of a flower motif, ch6, 1 sc into the next loop. Replace the last loop by 
ch3, 1dc. 1 rd of chain loops all around.
Place 32 chain loops each onto 1 dpn. Knit 3 sts per loop, but 6 sts each from the 1st, 16th, 17th and 32nd loop 
of each needle. Thereafter knit 1 rd (540 sts), distributing the sts onto 9 [!] dpns.
Work the lace edge according to chart C, repeating the chart 90 times per rd (i.e. 10 times per dpn). After 
rd10, crochet off by gathering 3 or 5 sts alternating into 1 sc, ch 12 in between the sc’s.



Legend(s)

Ramona,
Your legend is much shorter and I admit I did not compare the charts stitch by stitch. Is there anything left that I 
would need to clarify?
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